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1. ZLdHic

HAEZENEOLHE TR, Xk»SBEARAOEENESEREIh T Y., HRARE
EHEBNCNETIRADW >LORABETCITOATE L, L L. BEAXEAD
HHEE. ChETRIRTAFTCHOLNTEY ., BAUFMEEBEELL, i,
BRAXBEMEOBESBR TS - 7o

FZLrE— Tk, BRAXRAMEOBEEER (LT 2L L bic. ThEHEREKA
YTVAVITBRRERODVWTHL S, BRIC, AV E— TRELAHEEEZEED
FHERXP  F—sR—ICBRALLERERTS

2. HROHR

HBBHREZEROALHIcR. SELBLEENED, v 97 2— A DOHEBHE
AR TH %, BEE TiK. EENEBEOHRIBL DL A TITbh. BRER 2
FARBWTRECERALLOBRBICETE-TWVW3, LIAL. EOESENEBOHE
2. FFERXMHLTED, ADELTEZENRELWbDDAZEFZ->T &R L L.
EENBONRERBRORZICEITHITL LTS L, ST FTRMBMNELTL %,
FOELIRBERO—2IL, EENB~DANE—BRREDOSABTVEVS O KBS
3, SEMNEBAlTR, BESED0S>b50WThTHI2hZEZHETA LR ELD THE
BOTHb. Hic, REOEVWHERLEHRETAILHPEL . EVWEEE (BhE. B
B OEFHTH2BEEORERS TR, COBERMBEHEF &K 5,

Beid, BE/EBA v 72— AT ILWRARET > TELH., HEE
HEh2iBANBER*—oOHELANRLTNEYTZCEicdd, DEHOEET
BHREZRECEZC LT T VWho COFER. BT IDBERCHRENT D
DTHBELEBEELTW S,

Ric, R4 RBARBEEZDBACNET 3FEERR Lo v E— ik, COH
ROKBRZIEDLBDTH 3,

3. BAMNLREXLF
EXNREZEZR, 7+RA MPRBHBRIIBEEFERSFHTEWVWSIETH 30

LipL, BREEFIEW-Td, 2o0HELSKETIbHBL. 3 >DOHED S
25 bbb. HcHEF oHBERRTHETI DTV,



PlZiE, 35+ bic, "in spite” EWHHBEF|H1 1 0B, "in spite of”
EWHHEEFIH 10 0[El. "in spite of XXX EWHHEFMN2 0EHERALL LT 3,
C DIFE. Tin spite” VR OHBREEBB WSS LW T, Bl "in spite” %
BAXRBREST 20ICIIREENS 3, BT S, "in spite” EWIFAVShEILS
WT, BEAEDBERZTORIC "of” 2 ->-THVWSORTWENSTH S, VWED
B&IX. "in spite” REB LT “in spite of” ZBEABHR L LB ITAITIR ST W,

E-T, T2 HSBARBEEME T 2Bk, BEFNOMBAFE L. BET
BERKRENBRY (EORDEA. "in spite”™ => "in spite of” -> "in spite of
XXX ... WS RT]) MoUBRBEECE.2RNICERT 2LEND 3,

4. BARRMB OB

RIS, WS 2HhOREEEZZEAT I, a ZHETILETZ L&, ROL I BEREE
ZHW3,

la] -« - BEJORE (WHOBE, SKIBETITHEHERT) .
n (a) « - - HEF|IOHBAEEK.

HEROLBICA Y 3REC. R4 RUTOROEER 30 $RhbE. FTORD
HOKEVWEHEFZBERARBALANEL, 7F R b« F—s<x=—2hS5HlBd %,

K (a) = (lal=-1) xn (a)

¥4, K (a) oBERFIF TS,
VE, FEX MR nEOREr SKAEARR BB ET B L. a %D
EoMENSKSE SO L LTABETHIE., nichkflT 3T OAEBESLETS 3,
L2L. a%2120RFELTAEBTHIE, AFERBR1TEWV, $HbB. (n—-1)
SOHEBMBHHEINIIEIREZ, aBd, ¥+ X bhicmEBEIHERT 385,
(n—=1) Xm
FOHERMEHEIN S, CHBK (a) OBKEMFITTH %0

Ric, Bl—OBEFERRTIDD 2 >OBEFIOFRWIT>WTHET 3,
e & BBE—DRENNERRFICEL. Lhdb|a |<| B | Th-h&td (¢
Bbb, a RBORDHBEF|ITHS) o COEE, BMROI ELIHS,
n (¢) 2 n (B)



THb0 a LBOEHAEZEBARBEELTTF R ENET2IBE8%2E1 %, BiR7F+
Z MABORICn (8) ABEENZH, ak>2WTEAXAZ E, cOHBEBH (a)
D5bn (B) AIROPWTRAMBBBENTWVWEOT, filicaBBBEhzDid,
n (a) —n (B)
BRI TH 2. H>T, a b BOmAFE2BRARRAL L TRATIBEICR., aDiH>
KoofE*%
(lel—-1) x (n (a) —n (B))

KEETHILEND S,
—fic, XBOMPBEF| L FHHBETIORESE
@
a,Bi (i=1,..., m)
vi,a (j=1,....n)
*ENICERRRALEL 284, XEBIBEF e el TR,
K(a) = (lal=-1) X%

(n (a) —2n (a,Bi) —Zn (7j,a) +22Zn (7, a,B81))
i 3 1]
L3,

5. AT YVAYF—¥ay
BRAXBAMBOLDHITER, RO25DBEEERTILEND 3,0

(1) 2 PEFEEL. REHEFOHBEKETE~ 5 B1E.
(2) A—0BEFERRIICBT 2HEFIOKOEEHNICEE LANS,
KOEDOKREWEH S BEFI%IERE > T 281

(2) OfEZE,. RELTEBRTEELLOIE T3¢, STEENBREMICHAT 5,
RERSIE, BEFIE2 1 oBM->TL 3ER, ChETRMShABEFOoF~Ticx
LCEl—DERRFNICBTILELZRANT, KOEZEHELRBERTHIERS
BWhSTHB,

PITHHAL &L 3o WE, BEA, B, C, D, E+ - - XL T, HEJIOHEAR
BBUTOXkKE>cEd 3,



HET  HERE BY] HBitH1 BitE2 HBIHES

AB 100 100 70 60 40
ABCD 30 90 90 90 90
ABC 40 80 20 20 20

ABE 20 40 40 40 40

CDEE, TTKOHOHROANEVWAB (K=100) $WMSh 3, (Ric. 2 EFH
CKDEDOKEWABCD (K=90) ¥EohdH, BcBMShTWBEABIR, A
BCDOPHBEF LR >TWBEDT, ABOE>KOHEIZ70iEEZNS (HEt
H1) o CObE. ABCHEOI, BEABOKKOEMHIESZNS (BHE
2) o FAltkic. ABEDSHSNAKETS., ABLYLTHHENTOLNS (BHE
3)o

Loflid. RBEMBEHALTH TS M, EBICREENIR 1 FRILT TR, @5
MlICEET %0 COBE. 4HIORRICR LIHERHESR., BEJIH1 505
EirLEBIRFhiEE S0,

Frid, HEBOBEREBH ST, (2) OBREZEUBRITIFAEEZE » 10
COFER. UTok>1bDTh 3,

c KOEOHHE IRERRFIT CTHA - BEFES LicB 3,

tofiDBE&. ABEABCDREKRRINPTCHEES»TWRVWOT, BitHE1
BTbhiiwv,

-HHEERIERLFIRE S,

LtoRDBEAE. ABCHR-TISWEBEAT. ABOBHESITDODATWS
OT. ABEBRE-TISUTHABOEHERTDLREW, 20, BiHES
liﬁ'}b'rh,f& L\o

Kic, BE (1) OFF R FPEBIROWTHIFT 3,

BIE (1) B, KBRNBM TS 25, BIE (2) OBHEOKI. 2 >DHETH
ERRFIIPTHE - TV I hEr @B cE LS LRdhIERSM WV, &
DD, TR MEBEORBRICE., FREVoHRBAEEKEI»Y v TR EEbiT, BE
FIERFRINEH EHSBRTE B LS5, BAKRICERT %,



RKD2>DF—sREFTT 50

(1) FIFO(First-In First-0ut) Bd® X % » 7 WordStack[N_GRAM].
WordStack @K & & N_GRAM 2. HARBLLTW(>OBED,LSK D B
DETE2HTHLEBRRT S, 707541, 742 PHOBREZAE, OFE
# L. WordStack I {'o WordStack[0] iciRBE b H LA B I BHEMN,
 WordStack[1] IRIBEBIIKERE NcBED, WordStack[i] iz i I
SRENWCBHESEHREN S,

(2) va— FHE& VYordSequence.
WordSequence i, D LS5 LV a—FTHh 3,
var
WordSequence : record

String : array of char;
Count : integer;
UpperSeq : array of 1 WordSequence;
Next : 1 WordSequence;
end;

String 3. BEFILEBMNT 275060 THD. Count RIgFEhi B
EFIHNFF R pdicAEIRBE LA »EEET 50 UpperSeq 3. BEFIARK
B THEED String £ b1 DBHEMOE W WordSequence %357 ¥ 4
VIDERETH D, BEFERRTIR, —FicEHoR/EEFE vt X
1VIDREER>TWVWB,

. L3 — F WordSequence i, 1 D DBEF|icXt L 1 2ELET 3 .
ChoRTRTY R MRIEEEINTBY ., HAT v 33— F FordSequence #8
ESh BB, YR PORBICOUEHN B, Next 2. VR PORODEFZ%:
BT HFA vy TH 5B

BT, FFZAPrEBEDT 0SS5 L%RT, text[i] 3. X +dhod | HEEOD
g%%ibf‘«‘%o



procedure TextScan
var
i, 3. k, 1 : integer;
CurrentSeq : WordSequence;
begin
i:=0;
vhile text[i] <> END-OF-TEXT do begin
push text[i] to WordStack:
i=1;
while j < N_GRAM do begin
if already exists WordSequence such that
WordSequence. String = WordStack[j]...WordStack[0], begin
CurrentSeq := WordSequence;
CurrentSeq. Count := CurrentSeq.Count + 1;
end;
else begin
CurrentSeq := allocate nev WordSequence;
CurrentSeq.String := WordStack([j]...WordStack[0];
CurrentSeq. Count := 1;
end;
if j <> 1 begin
search WordSequence such that
WordSequence. String = WordStack[j]...WordStack[1];
search empty UpperSeq[k] in WordSequence;
WordSequence. UpperSeq[k] := CurrentSeq;
search WordSequence such that
WordSequence. String = WordStack([j-1]...WordStack[0];
search empty UpperSeq[l1] in WordSequence;
WordSequence. UpperSeq[1] := CurrentSeq;

end;
=i+l
end;
i:=1i+1;
end;
end;



6. EEER

ITREBELAFEOFWHE LB ST 2 EBET-> 10

RHRBRICR, 3-oD0RNBE5HOF+2 M2V, BEFIOAEKRTIZ1 0 BEHL S
K2bDFETRIF-7o £/, BEFIOS> BKOEOARKEWDDO0., 5XIKOPVWTO
S KOBHERTW., BHEL2F--b00tdhs L1 /22 BAXBE LTHHE
L 7o

RBRICAWATF+ R FPERIETR T,

(ER1) HR : F—F - FOE
F4 V2 MY atr-ln:/data3/MORPH/DATA/key
BXH : 1197
BHEN : 12669
ROHEFIH: 57445
(EE2) ¥ : BIELHE
F4V2 bFY: atr-ln:/data3/MORPH/DATA/tel
BXH : 2758
KaBAZE : 82399

RoBEFH: 156598

(E83) HZ : FHEE
F4 V2 MY atr-1n:/data3/MORPH/DATA/new
X : 626
HBAZE : 16095

BoBEHK: 10943814

KR—=vPEc. BRAXBELELTHEBE A DD—BA2RT, chx2B3¢. K
BHELLBAZ2b0BHBENTEBD. FVvE—- ' TRELLE-FEOEDHEE > D
BHIEBTE S,



F—F—FeFEbootBREBMBER

K: <N-gram> Occurrences: Word-sequence

130: <3> 93: TL«&, S5, H»

109: <2>150: T9,H»

88: <5> 28: L,%kW, 0, TF,H
84: <8> 85: @, TY, M

12: <3> 60: ¥, L, %

72: <4> 28: ©, TL &, >, »
12: <4> 24: BW, 8, FL, %
70: <3> 41;: @, TF,H»

70: <2> 79: ¥4, 5

66: <4> 22: E9b,b0HE S, HEWEL, -
64: <2> 76: L, T

60: <2>145: @, TF

57: <4> 27: B, B\, L, 4
56: <3> 39: T,®h,F7

55: <2> 67: £H#, A

46: <3> 23: 5, TF.»

45: <4> 43: W, 0, TF, B
44: <2> 79: L, F 7

42: <3> 31: &, Bw, 4

40: <2>100: ¥ L, 7%

38: <2>123: TH,H

38: <2> 46: @, F

36: <3> 25: T,W, ¥

34: <> 44: T, 0T

84: <3 17: i, Wb, ¥

33: <2> 56: 35, T%

33: <> 44: FHL,. ¥

32: <> 16: B\, &>, T¢

32: <5> 8: %, B, FHWwW L, E¥7
30: <4> 10: 9, TL &, 2, b
28: <3> 36: ML WEWEL, 2
28: <2> 37: ¥, M4

28: <2> 28: ic, i

27: <2> 39: %. B

27: <4> 9: T, Wiy, 4.,
26: <2> 26: &%, D

A



25:
25:
24:
24:
24:
24
24:
23:
AR
22:
22:
21:
21:
21:
21:
21:
21:
21:
20:
20:
20:
20:
20:
20:
19:
19:
18:
18:
18:
18:
18:
18:
18:
18:
18:
18:
18:
18:
18:
18:

<6>
<6>
<3
<45
<8O
<1
<
<2
<2
<3
<3
<4
<45
<4>
<4>
<4
<4
<8>
<2>
<2>
<3
<8
<6>
<6>
<2
<2
<2
<4
<2>
<3>
<8
<38>
<3
<38
<3
<3
<H
<45
<>
<4>

T O OY O O WO WO O O 0w
.o se e

L.fcw, & Bun, &5, 48

%, L, kv, 0,9, B

TE A B

: BV, L, ET

X, 8, T EE, 4

Coat
GMF‘ o

BB R A Y R o

S@mmc oM
?lt

&, 4h3,0
& HL, T

: A,TE, M
: BRBEERSEEER. T9, »

¥9,0T, %0

: &1L, L, ¥4
: HE.R, » 5
: T, W3,D, TT
: T, 80,8, A
i, W, T, h

: B, FE, L, 0,0, T B
2B, F5,L,C.80, %7

e K. B8m L. v, 0, T, B
&0

: ®#B.TY

: 8, I, B

: B& KL i

s B,/F5, LT, W, ET
t B IS, 80, T, 80,57
: kFN, O

: 8815

: T, F&w

: LT, 89,4
T ¢

: B, EHD,ET



18:
18:
18:
18:
18:
18:
18:
18:
17:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:
16:

4>
4>
<T>
<T>
<10>
<10>
<10>
<10>
<2>
¢8>
<2>
¢8>
<2>
<2>
<2>
¢8>
<3>
<8>
<3
<3>
<8>
<3>
3>
¢8>
¢8>
<85>
<85>
<5>
<5>
<5>
<9>
<9
<9>
<9>
<9>

6: BW, D, T¢,»

6:
3: @'%n' Ln tl‘\' @' —E_a-

— DD = e GO
O O O O e N o =3

DD DD 0D DO DO e B e e e 00 OO OO OO O 0O OO OO0 O
.e oo s .

ha, o, 4,5

: A2, B.&D, L, &7

z %35&Llumbfﬂ\®'?b&
2: «—n—,%.ib.tljb.u,nfo,fw\,o,'c*b
2: BEBS. /vy brh—F, 0 20 &%
2. BB LYy bh—F, D, LHL ., %,

: ¥L,T

: BV, LT

: L, few

- & A G - 9 A

: B,.&EY

: 50, %9

: 28,1

: (b, 0, Hh

: L.EZL,. &

: TBY,¥9

: D, TT,h

: D, B, T

1 ®5,T9d.h

: ES,. 0,
cEH AL

: ik, 9,4

: KR, %, @

: HLL, B, B, L, 24
EBS5, 0,9, B
2,185, &, B0, 27
 EE R, 0, T, M
£5,0, TL&,S,H»

.be

W EBS, G, RFN, O, FE. IR, L. T

: T, 80, F94,0C, h, 2 85, TFTawn

t R, R, L, T, W3, E, T, MO8

: ERBE B, JvVe bA—F, 0,40, &. 8. %
T VY b A=K, R FEo,T. WV, D, TE, B

_10_
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BELFr SOHARRHBER

K: <N-gram> Occurrences: Word-sequence

460:
348:
326:
322:
255:
254:
222:
192:
160:
156:
150:
144:
143:
142:
141:
140:
132:
128:
126:
120:
117:
116:
110:
108:
100:
98:
93:
93:
88:
86:
86:
76:
76:
75:
T1:
66:

<3>3170:
<4>140:
<3>221:
<2>411:
85:
<3>212:
14:
<3>123:
<2>381:
<2>221:
65:
48:
<2>1176:
92:
58:
89:
<3>121:
64:
<3>137:
45:
48:
<2>328:
80:
36:
<3>108:
70:
<2>216:
39:
44:
65:
43:
31:
38:
25:
<2>283:
84:

<4

<4>

<>
<G>

<3
<4>
<3

<3

<85>
<4>

<3>
<4>

<3>

4>
<3>
<3>
<3
<5>
<3
<4>

<2>

£5,°¢, 0

W, bbb, EL, L
E.WH, &

A, TT

Tt h
F4,TLlL&k, D, 0
b, %5, TT.»
L, T

BV, ET
B, A, TT, 3hEd
D,H, I

T. 8,87

D, H, ik

bhy, L.
2,8, T, 8,94
z5,L,¥L,%5
5, TY
Cbs, D, h
H2,%9,Ts, M,
T, A, TF

A, TT, B

E, 0w

ALV, TL&,S, »
®D,H, »
£5,C%.h

W, 25, ¢
ELBDS A, TT,00hED
FIH,Wa, 7
b5, M,H,»5
T, »

L, T

_11_



64:
64:
63:
63:
60:
60:
60:
60:
60:
59:
5T:
51:
57:
57:
57:
57:
94:
54:
52:
52:
52:
51:
51:
51:
50:
50:
50:
48
48:
48:
48:
48:
45:
45:
45:
44:
44
44:
44:
44:

<3>
8>
<U4>
<4>
<2>
<4>
<4>
<5>
<>
<2>
<2>
<4
<4>
<4>
<4>
<4>
3>

<5
<3
<2
<4
<4>
<4>
<6>
<3>
<6>

4>
<5
<>
<4>
<4
<4>
<2>
<2
<2
<3>
<>

53:
47
21:
21:
T1:
20:
20:
15:
15:
89:
90:
30:
21:
19:
19:
19:
44:
<10> 6:
24:
39:
66:
26:
17:
17:
15:
25:
10:
<2>269:
4> 47
22:
12:
8:
23:
15:
15:
82:
55:
44:
22:
22:

i, 3y, &7

D,5,T

8, A, TT, M

bi¥, L&, 3, o

i ¢

ES2d,b0MES, TFWEL,
E,. W3, &, T

T, W3, A, T3, 0nhEd
ALL, BBV, WAL, ET
¥9,0T

B, EBHW

T, 80, 59,07

&, WS, ¢, TF
AT, dhED

L 0wS, 0,0

ATT,.0hhED, 50
W, A, T

55,5, 1,08, BREEERSE, 0, EBR, TL &,
L.7cW A, T3, i3hED
£255,0,45

wE. Ty

E, W3, ¢, i

&, WS, &7
WA, TT, 3hED
&I, 18-, T, 80,59
T3, R, HO—

E. W3, &, TLlg,d, »
Tt P ED

& B3, A, TF

L. T.B80, %7

AT TR EDS, B, IR
Th, i, ALV, A, TL&, S, o
A, TE,0HhEDL, BV
CB55,0,4,T

BBV L, g9

Wo, 1

S®| 0

100, Fu

= 8B,%0

A, T, D

. I

(&7

_12...



44
42:
42:
42:
42:
42:
42:
42:
42:
42:
42:
41:
41:
41:
41:
41:
40:
40:
40:
40:
39:
39:
39:
39:
39:
39:
39:
39:
39:
38:
38:
38:
38:
317:
37:
36:
36:
36:
36:
36:

<5
<3
<3
<2>
<4>
<2>
4>
<3
<3
<4
<>
<2
<2>
<2>
<2>
<2>
<>
<3>
<>
<5
4>
4>
<4
<2>
<2>
<4>
<4>
<4>
<4>
<3
3>
<2
<2>
<2>
<2>
<3
<1
<2>
<3
<3

11:
67:
41:
69:
22:
64:
21:
21:
21:
14:
: 8,1, 0, BRBEERSBEER. TLL, 3.2
69:
59:
52:
41:
41:
24:
20:
10:
10:
317:
28:
19:
39:
39:
13:
13:
13:
13:
44:
38:
15:
38:
59:
317:
33:
11:
54:
18:
18:

B AT, 3hES, b0
i, 7, T

bohEs, TEVEL, L
Al 1

95, Tt+. 1,50
B,.ZY

AP A o I

bhiF, 7.

W& R, 2 5

W, 20,89, T

Wwiol, %7

FE,A

E3

b, b5LbL

2,50
ALW A, TL&, .2
&H| 5, 0

S, B, T, WhHEE 9
BW, &5, T, T&WET,
L.72\0, A, TF

B, BV, WikL, ¥9
CbL,D, 4, I

9, &

FT,. I

F55,D,4,

E. W3 A, i

BTWw, &, 0wWH, &

5D, .55,D, %5

D, H, S

T, WhiEs 9

L, 7t

zh, it

% B

T, X

B, BN, L

B,@AW, L, tw, A, TT,
i<, B

i<, 8,20

¥9,D°TC, ikW

5

dhéEd

_13_



36:
36:
36:
36:
36:
36:
36:
36:
36:
36:
36
35:
35:
35:
34:
34:
34:
34
34:
K
34:
34:
33:
33:
33:
33:
33:
33:
32:
32:
32:
32:
32:
32:
32:
32:
32
32:
32:
32:

3>
4>
4>
4>
¢<5>
<5>
<55
<7
<
<>
<>
2>
8>
8>
<2>
3>
2>
2>
3>
3>
3>
3>
4>
2>
4>
4>
<>
4>
3>

<5
<S>
<2>
<P
<3
3>
<3>
3>
3>
5>

— . s e
w Y NN O

o
N WO O O O WO WO

o

s REL,wiL, 2T

R, ELBW T

P ATE, BhES, A&

: B AR 0,5

: T&3,A, TL&,D,»

: I,A, TL&, D, >

c A—, %95, L, gL, x5
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32:
32:
32:
32:
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30:
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30:
30:
30:
30:
30:
30:
30:
30:
30:
30:
30:
30:
30:
29:
29:
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28:
28
28:
28:
28
28
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13:
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28:
28:
28:
28:
28:
28
28:
28:
28:
28:
28:
28:
28:
28:
28:
27:
27:
217:
27:
27
27:
27:
217:
217:
217:
217:
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26:
26:
26:
26:
26:
26:
26:
26:
26:
26:
25:
25:
25:

<2>
<2>
<8>
3
<3
<3>
<3
<5
<5
<5
<5
<5
8>
<8>
<8>
4>
<2>
<2
<2>
2>
4>
4>
4>
4>
<4>
<4>

<10> 3:

<2>
<2
<2>
<2>
<2>
<2>
<3
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<3>
<>
<2>
<2>
<2>

40:
28:
14:
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14:
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14:
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B, T, WhERE, EF
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t B, ED, VWL, ¥ T
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42:
41:
41:
38:
26:
26:
13:
13:
13:
13:
55:
44:
25:
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T9,0T
Zh, &
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DRV, A, TY, B
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T&, 59
TL, 5
FTFN, D
A¥—-Ah—,¢LT
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FE A OT
&, &, 0
&, L, kv
D, it
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25:
25:
25:
25:
25:
25:
25:
25:
25:
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<6>
<6>
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<6>
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B HEL > OEART MR

K: <N-gram> Occurrences: Word-sequence

110:
104:
90:
60:
59:
59:
55:
49:
48:

<2>169:
<3> 59:
<2>100:
<3> 42:
2> 11:
<2> 170:
<2> 19:
<2>108:
<2> 48:

T, W5
L, T.\W3%
L, 7%

T, W\, 72
&, WS
T, 55
T, i1
L, T
i, it

45: <4> 21: B, b, LA, B

34: <3> 23: &, h, 1

33: 4> 11: &, 1, T, W3

32: <9> 4: L, T, W3,0,7T, i, W o, &

30: <3> 24: T, ik, 72w
30: <2> 44: £,

30: <3> 15: &g, &», T
28: <2> 40: ££5,5
27: <4> 12: L, T, \\, 72
26: <2> 33: o, 1
26: <2> 26: i, b

24: <3> 1171: T, &, 7
24: <2> 29: 1, &

24: <> 24: &, 0D

22: €3> 15: &,L, T
22: <3> 14: o, 0, ¥
22: <3 11: 72,0, ik
21: <2> 83: 1=, &

20: <3> 14: T,W53,¢&
20: <2> 27: 13w, &
20: <3> 10: 95, L, 7
19: <2> 24: M9, 72

18: <2> 32: o, 7

18: <3> 16: T,\W53,D
18: <3> 12: 7, &, w5
18: <8> 12: #5,5, &
18: <2> 18: i », 12
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18:
18:
18:
18:
17:
i7:
16:
16:
16:
16:
15:
15:
15:
15:
15:
15:
15:
15:
15:
15:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
14:
13:
13:
13:
13:
13:
13:
12:
12:
12:

<3>
<3
<4
<4>
<2>
<2>
<2>
<2>
<2>
<3
<2>
<6>
<4>
<4>
4>
4>
<4>
<4>
<6>
<6>
<2>
<2>
<2>
<2>
<2>
<2>
<2>
<3
<3
<3
3>
<2
<2>
<2>
<2>
<2>
<2>
<2>
<2>
<2>

v
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N

: ER. 0

: T, hB, &
1 Ch, 5,0
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(\yJ
<
]

&5
R =1
. O E A

G"_ﬁ"ﬂ’rr‘q
St o

T, fa.h\
SRR h, i, RS, W, &
3,7, 6, L0, 70
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12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
12:
11:
11:
11:
11:
11:
11:
11:
10:
10:
10:
10:
10:
10:

<2>
<2>
2>
<2>
<2>
<2>
<2>
<2
<>
<3>
(3
<8

<3 .

<4
&>
<4>
<4
4>
4>
<G>
<
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<
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D, ), i
1o, T, W3
0, T,W3

L, 7z, o &, &
L, T, W3, &

P T, W3, W)

E. L, T, W3
EVEX, T, W3
i, b, hbs, ¢

1 e, T, W, T

1 &L, T, W0, e

: 0,55, B0, 4RE, &

: BEER, o, HeER, HE, &

I, o 0, b, LN, TN
c D, W, L &0 S
D, iR, B0, &0
e, D, M, b, LA, TV
: 9, &

: W, D

R 1
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10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:
10:

<2>
<2>
<2>
<2>
<2>
<2>
<3
<38>
3>
3>
<38>
38>
A3
<38>
a3
3>
<3
<3
<6>
<6>
<6>
<6>
<6>
<8>
<6>
<6>
<6>
<6>
<6>

10:
10:
10:
10:
10:
10:
Y A

: &, B, 13
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DO NN NN NN NNV OO OO OO O n

& i
i,
=,
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=
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: &, M, TED
&, I, 8B
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 RE K&

s h, k8RR L
L.&3, & L.T. 03

: T, W3,0,i,3L,SPD

PR T X5 S I > S8~ A
E. L., bD, Ko, 1
i, EY, R, 0, B, 2k

: Z,BIE, L, &, 28, %
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RN, &, PONE IR ES, T
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/*—=—=—=—=—:—:—:—:—=—=—=—=-=—=-=—=—=—=—=—=—=—=—=—=—=—=—=—='—=—=—=—=—=—=—=—=-
¥
¥ Automatic Idiom Extraction from Text Database
¥
%
* Copyright (C) 1988, KXenji Kita.
¥
% EDIT HISTORY
* First version created at 3-Mar-1988.
¥ Last modified at 24-May-1988.
*
§-S-S-S-SeZeZeS-S-S—S—SeZ-S-S-S-S-S-S-S-S-S-S-S-S-S-s-S-Z-S-z-S-sS-s-s-2-a-k/
tinclude <stdio.h>
#include <ctype. h>
#define EOS (-2) /% End of sentence %/
#define FALSE 0
#define TRUE 1
$define N_GRAM 10
#define WORDSIZE 256
#define STRSIZE 1024
#define STRING "a'
$define NUMBER 0
#define DELIMIT_CHAR "¥001
int verbose = 0,
sentences = 0, /% Total sentences %/
totals[N_GRAM], /* Total N-grams, totals[0]...total words */
d_totals[N_GRAM]; /¥ Different total N-grams %/
float percent = 2.0;
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/%

¥ 'WordSeq' structure definition.

*/
#define B_PRIME 1001
#define HASHSIZE B_PRIME#N_GRAM

struct WordSeq
{
char *¥Sequence;
int Count;
struct ConStruct *UpperLinks;
struct WordSeq ¥Next;

~

W e W W W -

Sequence -> Word sequence.

Count -> Occurrences.

UpperLinks -> Set of pointers to upper N-gram.
Next -> Pointer to next N-gram (same level).

*/

struct WordSeq #*hashtable[HASHSIZE];
/%

5%

hashtable[0] - hashtable[B_PRIME-l]

* hashtable[B_PRIME] ... hashtable[2%B_PRIME-1]

¥ ...,

* hashtable[n*B_PRIME] ... hashtable[{(n+1)*B_PRIME-1]
%/

struct ConStruct
{
struct WordSeq *UpperLink;

struct ConStruct ¥Next;
}s

-23-
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Usage(progname)

char kprogname;

{
fprintf(stderr, "Usage: %s file or %s @meta-file¥n", progname);
exit();

}

main(arge, argv)

int arge;

char *argv([];

{
register int i;
double atof();

for(i = 0; i < N_GRAM; i++)
{
totals[i]

= 0;
d_totals[i] =

0;
}
if (arge < 2)
Usage(argv[0]);
while(--arge)
{
if (¥%++argy == " -")
{
switch((*argv) [1])
{
case 'p':
if(arge=1 <= 0 || lisdigit (¥*¥(argv+1)))
fatal_error("! Missing value after "p’ option¥n™);
percent = (float)atof (¥(argv+l));
--arge;
++argv;
break;
case 'V :
++verbose;
break;
default:
fatal_error("! Unknown option : %c¥n", (*¥argv)[1]);

}

-24-



}
else if (¥*argv == '@")
{
FILE ¥fp;
char filename[256];

if((fp = fopen(&((¥argv)[1]), "r")) == NULL)

fatal_error("Cannot open %s”, #*argv):
while(fgets(filename, sizeof(filename), fp) != NULL)
{

if(strlen(filename) == 1)

continue;
filename[strlen(filename) - 1] = NULL;
textscan (filename);

}
else
textscan(*argv);
}

dump_ngran() ;

}

textscan(filename)
char ¥filename;

{

register int i, s;
char wordstack [N_GRAM] [WORDSIZE],
seq[STRSIZE], /% wordstack[i] ... wordstack[0] */

subseqO[STRSI1ZE], /# wordstack[i-1] ... wordstack[0] */
subseql[STRSIZE]; /% wordstack[i] ... wordstack[1l] %/
struct WordSeq #*p, #q, *lookup(), *count_up();

FILE *¥infp;

/%
* wordstack[0] ... Current word.
* vyordstack[l] ... Previous word.
2
%/
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fprintf(stderr, "[ Processing file %s ]¥n", filename);
if ((infp = fopen(filename, "r")) == NULL)
{
error("Cannot open %s¥n", filename);
return;
}
for(i = 0; i < N_GRAM; i++)
wvordstack[i] [0] = NULL;
while(1)
{
if((s = getword(infp, wordstack[0], WORDSIZE)) == EOF)
break;
else if(s.== EOS) ./# End of sentence %/
‘ .
if(verbose)
printf("[ End of sentence ]¥n");
sentences += 1;
for(i = 0; i < N_GRAM; i++)
wordstack[i][0] = NULL;
continue;
}
if(verbose)
printf("%s¥n", wordstack[0]):
totals[0] += 1;
strepy(seq, wordstack[0]);
strepy (subseq0, wordstack[0]);
subseql[0] = NULL;
for(i = 1; i < N_GRAM; i++)
{
if(wordstack[i][0] == NULL)
break;
r_strcat(seq, wordstack[il]);
r_strcat(subseql, wordstack[i]);
p = count_up(seq);
if(verbose)
{
printf("Count up: ");
printseq(seq);
printf("¥n");
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if(i 1= 1)
{
q¢ = lookup(subseq0);
makelink(q, p):
if (verbose)
{
printf ("Link: ");
printseq(subseq0);
printf (" => 7);
printseq(seq);
printf ("¥n");
} “
q = lookup(subseql);
nakelink(q, p);
if (verbose)
{
printf ("Link: 7);
printseq(subseql);
printf (" -> 7);
printseq(seq);
printf ("¥n");
}

r_strcat (subseqd, wordstack[i]);

}
for(i = N_GRAM - 2; i >= 0; i--)
strepy(wordstack[i+1], wordstack[i]):
}
fclose(infp);

1

r_streat(s, t)

char ¥s, *t;

{

/¥

¥ Ex. s->"abe”, t->"xyz" ==> s->"xyz¥00labc~
%/ :

register int i, x, y;
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if (¥s == NULL)
strepy(s, t):

else
{
x = strlen(s);
y = strlen(t);
for(i = x+y+l; i >= y+l; i--)
s[i] = s[i-y-1]);
for(i = 0; i < y; i++)
s[i] = t[i];
s[i] = DELIMIT_CHAR;
}
}
/%
* "WordSeq' handling functions.
*/

unsigned hash(sequence)
unsigned char #*sequence;

{
‘unsigned char  #*p;
int val, n = 0;

for(p = sequence; *p != NULL; p++)
{
if (#p == DELIMIT_CHAR)
n++; -
}
for(val = 0; *sequence != NULL; )
{ ,
if (¥sequence == DELIMIT_CHAR)
break;
val += ¥sequencet+;
}
return({(n - 1)#B_PRIME + val%B_PRIME);
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struct WordSeq #count_up(sequence)
char ¥sequence;
{
register char *gq;
int n=20;
struct WordSeq #p, #lookup(), *install();

for(q = sequence; #q != NULL; q++)
{

if (*q == DELIMIT_CHAR)

++n;

}
totals[n] += 1;
if ((p = lookup(sequence)) != NULL)
{

p->Count += 1;

return(p);

}

else /% First N-gram %/

{
d_totals[n] += 1;
return(install (sequence));

}

struct WordSeq #*lookup(sequence)
char ¥sequence;
{
struct WordSeq #p;
unsigned hash();

for(p = hashtable[hash(sequence)]; p != NULL; p = p->Next)
if(stremp(sequence, p->Sequence) == 0)

return(p);

}
return(NULL);
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struct WordSeq #*install(sequence)
char ¥sequence;
{
struct WordSeq #*p;
char k¥strsave(), #*malloc():
unsigned val, hash();

if ((p = (struct WordSeq #*)malloc(sizeof(struct WordSeq))) == NULL)
error("No memory”);

if ((p->Sequence = strsave(sequence)) == NULL)
error("No memory”);

p->Count = 1;

p->UpperLinks = NULL;

val = hash(p->Sequence);

p->Next = hashtable[val]l;

hashtable[val] = p;

return(p);

)

makelink(p, q)
struct WordSeq *p, *q;
{

register struct ConStruct ¥cpl, *cp2;

for(cpl = p->UpperLinks; cpl != NULL: cpl = cpl-DNext)
{
if (cpl->UpperLink == q)
return;
}
if((epl =
(struct ConStruct *)malloc(sizeof (struct ConStruct))) == NULL)
error("No memory™);
cpl->Upperlink = q;
cpl->Next = NULL;
if (p->UpperLinks == NULL)
p->UpperLinks = cpl;
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else

for(cp2 = p->UpperLinks; cp2->Next != NULL; cp2 = cp2->Next)

cp2->Next = cpl;
}

printseq(sequence)
char ¥sequence;

{

register char  #p;

for(p = sequence; #p != NULL; p++)

{
if(*p == DELIMIT_CHAR)
putchar(’,");
else
putchar (¥p) ;

char ¥strsave(s)
char ¥s;

char xp, #*malloc();

if ((p = malloc(strien(s) + 1)) != NULL)
strepy(p, s):
return(p);

}
/¥
¥ Write idioms.

+/

#define N_SEQS 2048
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struct Sellist

{

}

struct WordSeq #*Wseq;
int K;

int Ngram;

int Modified;
SeqList[N_SEQS];

dump_ngram ()

{

register int i, i, k 1;
register struct WordSeq #p;
int max = 0, total = 0,
struct SelList #*q;

fprintf(stderr, "[ Dumping
printf(" Total Sentences
printf(" Total Words =
printf (" Bigrams =
printf (" Trigrams =
printf (" 4-granms =
printf(" 5-grams =
printf(" 6-grams =
printf(" 7-grams =
printf (" 8-grams =
printf (" 9-grams =
printf("10-grams =

for(i = 1; i < N_GRAM; i++)
total += d_totals[i];

count = 0;

... 1¥n");

%5d¥n", sentences):
%5d¥n", totals[0]):

%5d / %5d¥n”,
%5d / %5d¥n”,
%5d / %5d¥n”,
%5d / %5d¥n",
%5d / %5d¥n”,
%5d / %5d¥n”,
%5d / %5d¥n",
85d / X¥5d¥n”,
%5d / %5d¥n",

printf("Total N-grams = %d¥n", total);

for(i = 0; i < N_GRAM - 1;
{

i+4)

d_totals[1],
d_totals[2],
d_totals[3],
d_totals[4],
d_totals[5],
d_totals[6],
d_totals[7],
d_totals[8],
d_totals[9],

for(j = i%¥B_PRIME; j < (i+1)#B_PRIME; j++)

{

for(p = hashtable[j]: p != NULL; p = p->Next)

{

if ((p->Count)#*(i+1) > max)
max = (p->Count)#¥(i+1);

_32_

totals[1]);
totals[2]);
totals[3]);
totals[4]);
totals[5]);
totals[6]);
totals[7]);
totals[8]);
totals[9]);
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}
}
fprintf(stderr, "Max K = %d¥n", max);

for(k = max; k >= 1; k—)
{
for(i = 0; i < N_GRAM - 1; i++)
{
for(j = i*%B_PRIME; j < (i+1)#%B_PRIME; j++)
{ .
for(p = hashtable[j]; p != NULL; p = p->Next)
{

if ((p->Count)*(i+1) == k)

{
Seqlist[count].Wseq = p;
Seqlist[count]. Ngram = i+2;
Seqlist[count]. K = k;
Seqlist[count].Modified = 0;
for(l = 0; 1 < count; 1l++)

Kmodify(l, count);
++count;
if(count > N_SEQS -1
|| count > total¥percent/100)
goto EndSelect;

}
EndSelect:
$ifdef DEBUG
for(i = 0; i < count; i++)

{

q = &Seqlist[il];

printf("%3d: <¥d>%3d: ", q->K, q->Ngram, q->Wseq->Count);
printseq(q->¥seq->Sequence) ;

printf("¥n");

#endif
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/%
* Now start to write N-gram...
%/
max = 0;
for(i = 0; i < count; i++)
{
if(SeqList[i].K > max)
max = Seqlist[i].X;
}
fprintf(stderr, "Modified Max K = %d¥n", max);

for(k = max; k >= 1; k--)
{
for(i = 0; i < count; i++)
{
if(Seqlist[i].K == k)
{
q = &Seqlist[i];
printf("%3d: <%d>%3d: ", q->K, q->Ngram, q->Wseq->Count);
printseq(q->¥seq->Sequence);

printf("¥n");
}
}

}
}
Kmodify(m, n)
int m, n;
{

register struct ConStruct %p;

int upper, lower;

upper = (SeqList[m]. Ngram > SeqList[n].Ngram ?2 m : n);

lover = (upper == m 2 n : m);
if (SeqList[upper]. Ngram - Seqlist[lower]. Ngram == 1)
{
for(p = SeqlList[lower].¥seq->UpperLinks;
p != NULL; p = p->Next)
{
if(p->UpperLink == SeqlList[upper]. ¥seq)
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break;

}

if(p == NULL)
return;
if(SeqlList[lower]. Modified)
return;

Seqlist[lower].X =
(SeqList[lower]. Wseq->Count - SeqlList[upper]. ¥seq=>Count)
* (Seqlist[lower].Ngram - 1);

++Seqlist[lower]. Modified;

Lexical analyzer.
Get one word from text database.

Sample text structure.

¥

¥

¥

¥

¥

* (CHANGED

¥ #S(OUTPUT

¥ :0_DATA (196204 204245 197197 207195 185241 186221 178241 181196
* 187246 204179 182201)

* :0_REGULAR_HIRAGANA (164196 164166 164228 164175 164199 164243

¥ 164239 164179 164175 164181 164164 164171

¥ 164164 164174 164184 164224 164173 164231

* 164175)

* :0_REGULAR_KANJI ((196204 204245 197197 207195 185241 186221 178241
* 181196 187246 204179 182201))

* :0_HINSHI 30 :0_KATSUYOU NIL :0_KATSUYOU_TYPE NIL :0_BEFORE NIL
¥ :0_AFTER NIL) ...

¥/

getword(fp, buf, bufsize)
FILE ¥fp;
char ¥buf;
int bufsize;
{
char regform[WORDSIZE] :
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GetData:
if (skip_to(fp, "0_DATA") == EOF)
return(EOF);
getcodelist (fp, buf, bufsize);
skip_to(fp, "O_REGULAR_KANJI);
getcodelist (fp, regform, WORDSIZE);
if (strcmp(regform, "NIL") == 0)
{
if (buf[0] == "Y¥241
& (buf[1] == 'Y¥243° /% Zenkaku Maru %/
|| buf[1] == "¥251° /% Zenkaku ? %/
|| buf[1] == "¥252°)) /% Zenkaku ! %/
return(EOS) ;

else
goto GetData;
}
return(TRUE) ;
}

skip_to(fp, keyword)

FILE ¥fp;

char ¥keyword;

{
char buf [(WORDSIZE];
while(1)
{

switch(gettoken(fp, buf, sizeof(buf)))
{
case EOF:
return(EOF) ;
case ":':
if(gettoken(fp, buf, sizeof(buf)) == EOF)
return(EOF) ;
if(stremp(buf, keyword) != 0)
continue;
return(TRUE) ;
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getcodelist (fp, buf, bufsize)

FILE
char
int

{

}

¥fp;
¥buf;
bufsize;

int level = 0, type;
char tmp[4], str[256], #strp;

while((type = gettoken{(fp, buf, bufsize)) ==

++level;

if (type != NUMBER)
return(FALSE) ;-

strp = str;

vhile(type == NUMBER)

{
strncpy(tmp, &buf{0], 3):
¥strp++ = atoi(tmp);
strnepy (tmp, &buf{3], 3):
¥strp++ = atoi(tmp);
type = gettoken(fp, buf, bufsize);

¥strp = NULL;
if (type 1= ")")

error("Illegal code list¥n™);
return(FALSE);
}
level--;
while(level--)
gettoken(fp, buf, bufsize);
strncpy(buf, str, bufsize);
return(TRUE) ;

gettoken(fp, buf, bufsize)

FILE
char
int

{

¥fp;
#buf;
bufsize;

int c;
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char ¥bufp;

bufp = buf;
while(isspace(c = getc(fp)))

*¥bufp++ = ¢;
if (Yisalpha(c) && !isdigit(e))
{
*bufp = NULL;
return(c);
}
if (isalpha(e))
{
while(--bufsize)

{

¢ = xbufp++ = gete(fp);
if(!isalnum(c) && ¢ 1= "'

{
ungetc(c, fp);
break;
}
}
*¥(bufp - 1) = NULL;
return(STRING) ;
)
if(isdigit(e))
{
vhile(--bufsize)
{
¢ = kbufp++ = gete(fp);
if(Yisdigit(c))
{
ungetc(c, fp);
break;
}
)
*¥(bufp - 1) = NULL;
return(NUMBER) ;
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/%
¥ Error printing functions.

*/

error{(fmt, args)
char *fmt;
int args;:

{

_doprnt(fmt, &args, stderr):

fatal_error(fmt, args)

char ¥fmt;

int args;

{
_doprnt(fmt, &args, stderr);
exit();
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